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(b) 

xfd|f] egfO 

ljBfyL{sf] ;jf{ª\uL0f ljsf;sf nflu cfjZos kg]{ 1fg, l;k / clej[lQ,d"No / tTk/tf ljsf;sf] 

lj:t[t of]hgf kf7\oj|md xf] . kf7\oj|mdsf] ;xL ¿kdf sfof{Gjog x'g ;s]df dfq lzIffsf] u'0f:t/ 

clej[l4 ug{ ;lsG5 . kf7\oj|mdn] ljifout ljlzi6 p2]Zo, ljifoj:t', lzIf0fl;sfO lj|mofsnfk, 

z}lIfs ;fdu|L, lzIf0f ljlw / d"Nofª\sg k|lj|mof cflbsf] Joj:yf u/]sf] x'G5 . To;}n] lzIf0f l;sfO 

k|lj|mofnfO{ p2]Zok"0f{ / k|efjsf/L agfpgsf nflu lzIfsn] kf7\oj|mdnfO{ d"n cfwf/ jf dfWod  

agfpg'kb{5 . 

l;sfO ;xhLs/0f k|lj|mofnfO{ k|efjsf/L agfpg pko'St d"Nofª\sg k|0ffnLsf] k|of]u cfjZos x'G5 . 

kf7\oj|mdåf/f lglb{i6 p2]Zo s]slt dfqfdf k|fKt eP ePgg\ eg]/ ;xL ¿kdf d"Nofª\sg ug{ d"Nofª\sg 

k|lj|mofnfO{ Jojl:yt / j}1flgs agfpg cfjZos x'G5 . d"Nofª\sg k|lj|mofnfO{ j:t'lgi7 / 

p2]Zok"0f{ agfpg ljlzi6Ls/0f tflnsfn] dxTjk"0f{ ;xof]u k'¥ofPsf] x'G5 . To;}n] kf7\oj|mdsf] ;xL 

¿kdf sfof{Gjog xf];\ / d"Nofª\sg k|lj|mof cem j:t'lgi7, ljZj;gLo / j}w x'g ;sf];\ eGg] clek|fon] 

ljlzi6Ls/0f tflnsf lgdf{0f ul/G5 . 

ljBfno txsf nflu /fli6«o kf7\oj|md k|f¿k, @)&^ cg';f/ lgdf{0f ePsf dfWolds lzIff -sIff !! 

/ !@_ kf7\oj|md, @)&& z}lIfs jif{ @)&& b]lv sIff !! af6 j|mdzM nfu' ePsf 5g\ .  pSt 

kf7\oj|mdcg';f/ ljBfyL{sf] afx\o d"Nofª\sg ug{sf nflu  sIff !! df k7gkf7g x'g]  clgjfo{ ljifosf] 

ljlzi6Ls/0f tflnsf tof/ kf/L o; ¿kdf k|sfzg ul/Psf] xf] . k|:t't ljlzi6Ls/0f tflnsfsf] 

k|of]un] kl/dflh{t kf7\oj|mdcg';f/ lnOg] k/LIff ljBfyL{sf nflu ;/n / ;xh eO{ ljBfyL{sf] l;sfO 

pknlAw k|flKt b/nfO{ clej[l4 ug{ ;xof]u k'¥ofpg] ck]Iff ul/Psf] 5 .  

of] ljlzi6Ls/0f tflnsf /  gd'gf k|Zgkq  lgdf{0f ug{ ljifout ¿kdf lzIfs tyf ljz]if1 ;lDdlnt 

d:of}bf sfo{bn u7g ul/Psf] lyof] . d:of}bf sfo{bnn] tof/ kf/]sf] ;fdu|Ldfly lzIfsx¿sf] 

sfo{bnåf/f yk kl/dfh{g u/L ;DalGwt ljifo ;ldlt / ;dGjo tyf ;Dkfbg ;ldltdf 5nkmn 

u/L ;+zf]wg tyf ;'wf/ u/]kl5 o; ¿kdf tof/ kfl/Psf] xf] . oxfF /flvPsf k|Zg kf7\oj|mdsf cfwf/df 

lgld{t gd'gf k|Zg dfq x'g\ . k/LIff ;~rfng ljlzi6Ls/0f tflnsfdf km/s gkg]{ u/L cGo k|Zg 

lgdf{0f u/L k|of]u ug'{ pko'St x'G5 .  o;sf] lgdf{0f sfo{df ;xof]u k'¥ofpg] ;DalGwt If]qsf lzIfs, 

o; s]Gb|sf ljz]if1nufot ;Da4 ljifo ;ldltsf dxfg'efjx¿ Pjd\ ;DalGwt ;a} kIfk|lt kf7\oj|md 

ljsf; s]Gb| xflb{s wGojfb JoSt ub{5 . o;df s'g} sdL sdhf]/L eP cf}FNofO{ o;nfO{ cem kl/dflh{t 

/ :t/Lo agfpg ;Da4 ;a}af6 /rgfTds ;'emfjsf] ck]Iff ul/Psf] 5 . 

@)&&, kmfu'g kf7\oj|md ljsf; s]Gb| 
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!= ljlzi6Ls/0f tflnsf (Specification grid) sf] kl/ro 

 

!= kl/ro 

lzIffsf /fli6«o p2]Zo kl/k"lt{ ug]{ dxŒjk"0f{ ;fwg kf7\oj|md xf] . kf7\oj|mdsf] k|efjsf/L sfof{Gjog 

x'g ;s]df dfq lzIffsf] u'0f:t/ clej[l4 x'g ;Sb5 . kf7\oj|mdsf] ;xL ¿kdf sfof{Gjog ug{sf nflu 

k|efjsf/L ;xhLs/0f k|lj|mofsf ;fy} d"Nofª\sg k|0ffnLsf] ljz]if e"ldsf /x]sf] x'G5 . t;y{ kf7\oj|mdsf] 

k"0f{ sfof{Gjogdf d"Nofª\sg k|0ffnL k|efjsf/L x'g' h?/L x'G5 . 

kf7\oj|mdsf lglb{i6 ;Ifdtf k"lt{ eP ePgg\ eGg] s'/fsf] n]vfhf]vf ug]{ k|lj|mof d"Nofª\sg xf] eg] 

d"Nofª\sg k|lj|mofnfO{ of]hgfa4 tyf k|efjsf/L agfpg] dxŒjk"0f{ ;fwgdWo] ljlzi6Ls/0f tflnsf 

klg Ps xf] . lzIffsf] u'0f:t/ / k|efjsfl/tf clej[l4 ug{ d"Nofª\sg k|0ffnLdf ;'wf/ ug{ cTofjZos  

x'G5 . d"Nofª\sg k|0ffnLdf ;'wf/ ug{ kf7\oj|mdsf ;Dk"0f{ kIf ;d]6]/ d"Nofª\sgsf ;fwg lgdf{0f u/L 

d"Nofª\sg k|lj|mof ;~rfng ug'{ ckl/xfo{ x'G5 . xfd|f] jt{dfg z}lIfs k|lj|mofdf d"Nofª\sgsf] cleGg 

cª\usf ¿kdf k/LIffnfO{ lnOg] ul/Psfn] k/LIffsf k|Zgkq lgdf{0f ubf{ j}1flgs cfwf/ to u/L 

k|Zgkq lgdf{0f ug'{ cfjZos 5 . kf7\oj|mdsf p2]Zo k|fKt x'g] u/L kf7\oj|mdsf ;a} ljifoj:t' ;d]6]/ 

kf7\oj|mdåf/f lglb{i6 d"Nofª\sg k|lj|mof ckgfO{ d"Nofª\sgsf ;fwgsf ¿kdf k/LIffnfO{ k|of]udf 

Nofpg ljlzi6Ls/0f tflnsfsf] dxŒjk"0f{ e"ldsf /x]sf] x'G5 . k/LIff ;~rfng ug'{cufl8 k|Zgkqx¿ 

agfpg s'g PsfO jf kf7af6 s'g k|sf/sf] k|Zg ;f]Wg], s'g p2]Zosf] d"Nofª\sg ug{ s:tf] k|Zgkq 

tof/ ug]{, k|Zgsf] cª\sef/ slt lbg], s'g k|ZgnfO{ slt ;do lgwf{/0f ug]{ h:tf s'/fx¿ ljrf/ 

u/]/ k|Zgkq lgdf{0f ug'{ cfjZos x'G5 . x/]s lzIfsn] k/LIff ;~rfng ug'{cufl8 log} s'/fx¿ ;dfj]z 

u/L tof/ kfl/g] tflnsfnfO{ g} ljlzi6Ls/0f tflnsf elgG5 . o;/L pSt tflnsfdf kf7\oj|mdsf 

p2]Zo, ljifoj:t', cª\sef/, ;do cflbnfO{ Vofn u/L s'g PsfOaf6 s:tf / sltcf]6f k|Zgx¿ ;f]Wg], 

s'g k|Zg slt cª\ssf] /fVg], s'g k|ZgnfO{ slt ;do lbg], k|Zgdf 1fg, l;k / pRr 

IfdtfnfO{  s'gs'g k|Zgaf6 d"Nofª\sg ug]{ h:tf s'/fx¿ ;dfj]z ul/Psf] x'G5 . ljlzi6Ls/0f 

tflnsfs} cª\usf ¿kdf gd'gf k|Zgkq lgdf{0fstf{ / pQ/k'l:tsf k/LIfssf nflu Psk|sf/sf] 

dfu{bz{g jf lgb]{lzsf klg xf] . To:t} lzIfsn] lzIf0f k|lj|mof ;~rfng ubf{ klg s'g ljifoj:t', 

s;/L, s'g} p2]Zo k|flKtsf nflu ug]{ eGg] dfu{lgb]{z klg o; tflnsfn] ub{5 . 

ljlzi6Ls/0f tflnsfn] lzIfs tyf k|Zgkq lgdf{0fstf{nfO{ k|Zgkq agfpFbf ljifoj:t'ut j}wtf 

lgwf{/0f ug{ lgb]{lzt ub{5 . o;df kf7\oj|mdsf] p2]Zocg';f/ k/LIff / d"Nofª\sg k|ltlalDat ePsf] 

x'G5 . k/LIffsf] :t/Ls/0f, Ps¿ktf / j}wtfsf nflu ljlzi6Ls/0f tflnsfn] dxŒjk"0f{ e"ldsf v]n]sf] 

x'G5 . o;df l;sfOsf ;Dk"0f{ kIf ;d]l6Psf] x'g'k5{ . kf7\oj|mdsf ;Dk"0f{ If]qaf6 k|Zg lgdf{0f 
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ug{ ;lsg] u/L 1fg, af]w / cGo txsf k|Zgx¿ lgdf{0f ug{, k|Zg ;ª\Vof, ;do / cª\s lgwf{/0f 

ug{ tyf d"Nofª\sg ug]{ k|lj|mof;d]tnfO{ lgwf{/0f ug]{ x'Fbf lzIf0fl;sfO k|lj|mofdf o;sf] cxd\ e"ldsf 

/x]sf] x'G5 . 

s'g} klg ljifosf] kf7\oj|mdcg';f/ ljlzi6Ls/0f tflnsf km/skm/s 9ª\un] lgdf{0f ug{ ;lsG5 . To:t} 

ljifosf] k|s[lt / :j¿kcg';f/ klg ljlzi6Ls/0f tflnsf lgdf{0f x'g ;Sb5  .;fdfGotof ljlzi6Ls/0f 

tflnsf lgdf{0f ubf{ lgDglnlvt s'/fx¿df ljrf/ ug{ cfjZos x'G5 M 

-s_ kf7\oj|mdsf ;Ifdtf /  l;sfO pknlAw 

-v_ ljifoj:t'sf If]q jf l;sfOsf ljwfx¿ 

-u_ l;sfOsf ljleGg txx¿ ;DemfO, a'emfO, k|of]u, ljZn]if0f, d"Nofª\sg, l;h{gf cflb kIfx¿ 

-3_ kf7\oj|mdåf/f lglb{i6 kf7\o306f / ljifoj:t'sf] Jofkstf 

-ª_ k/LIffdf ;f]lwg] k|Zgsf k|sf/, k|Zgsf :t/, k|Zgsf ;ª\Vof, cª\sef/ / ;do  

-r_ k|Zg lgdf{0fsf nflu :ki6 dfu{lgb]{zg 

-5_ ljlzi6Ls/0f tflnsfcg';f/sf] gd'gf k|Zgkq lgdf{0f 

@= k|Zgkq lgdf{0f ubf{ k|of]u x'g] d'Vo lj|mofkbx¿ 

k|Zgkq lgdf{0f ubf{ k|ZgnfO{ dfkgLo, j:t'ut, ljZj;gLo / j}w agfpg w]/} s'/fdf Wofg k'¥ofpg 

cfjZos  x'G5 . To:t} 1fg, af]w / cGo txsf k|Zgx¿ lgdf{0f ug{ lglZrt lj|mofkbx¿sf] k|of]u 

ug'{kb{5 . k|Zgkq lgdf{0f ubf{ s'g txsf] k|Zgdf s:tf lj|mofkb k|of]u ug{ pko'St x'G5 eGg] ;fdfGo 

hfgsf/Lsf nflu oxfF s]xL lj|mofx¿ pbfx/0f:j¿k k|:t't ul/Psf] 5 M 

-s_ ;+1fg txsf lj|mofkbx¿ M 1fg txsf k|Zgdf ljifoj:t'sf] 1fgnfO{ hf]8 lbOg] x'gfn] 

To;cg'¿ksf lj|mofkbx¿ /fvL k|Zg lgdf{0f ug'{kb{5 . h:t}M kl/efiff lbg', JofVof ug'{, klxrfg 

ug'{, ;"rL tof/ ug'{, t'ngf ug'{, gfd lbg', /]vfª\sg ug'{, pNn]v ug'{, n]Vg' cflb .   

-v_ af]w txsf lj|mofkbx¿ M s'g} klg ljifo cWoog u/]/, ;'g]/ jf k9]/ a'em\g] Ifdtf jf l;k g} 

af]w ug]{ Ifdtf klg o;df kb{5 . t;y{ o; vfnsf] k|Zgdf 5'6\ofpg', b]vfpg', 5fGg', ;"lrt 

ug'{, ¿kfGt/ ug'{, lg0f{o lbg', k'li6 ug'{, pbfx/0f lbg', JofVof ug'{, t'ngf ug'{ h:tf lj|mofkb 

k|of]u u/L k|Zg lgdf{0f ug'{kb{5 . 

-u_ cGo txsf lj|mofkbx¿  M 1fg, af]weGbf pRr bIftf / Jofjxfl/s ;d:of ;dfwfg ug]{ l;k;Fu 

;DalGwt k|Zgsf txnfO{ oxfF cGo tx elgPsf] xf] . o; txdf ;fdfGo 1fg / a'em\g]eGbf pRr 

bIftf / Ifdtfsf] k/LIf0f ul/g] x'gfn] To:t} vfnsf lj|mofkbx¿ k|Zgkqdf k|of]u ul/g'kb{5 . 

h:t}M kl/jt{g ug'{, k|bz{g ug'{, vf]h ug'{, ;'wf/ ug'{, JofVof ug'{, tof/ ug'{, ;DaGw b]vfpg', 



3 

;dfwfg ug'{, ljefhg ug'{, km/s b]vfpg', 5gf]6 ug'{, lj:tf/ ug'{, lgdf{0f ug'{, k'gn]{vg ug'{, 

;f/f+z n]Vg', ljj]rgf ug'{, ljZn]if0f ug'{, ;dLIff ug'{, k'li6 ug'{, d"Nofª\sg ug'{, 5nkmn ug'{, 

lrq agfpg', l;h{gf ug'{ cflb . 

#= ljlzi6Ls/0f tflnsfsf] k|of]u 

jt{dfg d"Nofª\sg k|lj|mofdf ;'wf/ u/L kf7\oj|mdsf] d"Nofª\sg k|lj|mofcg'¿k ljlzi6Ls/0f tflnsf 

lgdf{0f ug]{, ljlzi6Ls/0f tflnsfcg';f/ gd'gf k|Zgkq agfO{ k/LIff ;~rfng ug]{ / tbg'¿k lzIfs 

tyf ljBfyL{x¿df o;sf] k|of]u ug]{  afgL ljsf; ug'{ cfjZos 5 5 . kf7\oj|mdn] lgwf{/0f 

u/]sf ;Ifdtf tyf l;sfO pknlAw k"/f ug{sf nflu ljlzi6Ls/0f tflnsfsf] lgdf{0f 

u/L ;Dk"0f{ kIfnfO{ ;d]6\g] u/L k|Zgkq tof/ u/L ;f]cg';f/ k/LIff ;~rfng Pjd\ k/LIf0f / k[i7kf]if0f 

ug{ cTofjZos ePsfn] o;sf] dxŒjk"0f{ e"ldsf /x]sf] 5 . d"ntM ljlzi6Ls/0f tflnsfsf] k|of]u 

lgDglnlvt sfo{sf nflu ug{ ;lsG5 M 

-s_ z}Ifl0fs of]hgf lgdf{0f ug{ M x/]s k|sf/sf z}Ifl0fs of]hgf lgdf{0f ug{ ljlzi6Ls/0f tflnsfn] 

;xof]u k'¥ofpF5 . ljBfyL{x¿sf l;sfOpknlAw dfkg ug{ cfjZos d"Nofª\sg ;fdu|L s:tf] 

vfnsf], slt ef/sf] x'g] / k|Zg ;ª\Vof h:tf s'/fx¿ cWofkg of]hgfdf /fVg ;xof]u k'Ug] x'Fbf 

d"Nofª\sgsf] cleGg cª\usf ¿kdf of]hgf lgdf{0fdf ljlzi6Ls/0f tflnsfsf] k|of]u ug'{kb{5 . 

-v_ pko'St k|Zgkqsf] lgdf{0f ug{ M Ps lglZrt ;dofjlwleq kf7\oj|md jf p2]Zocg'¿k 

ljBfyL{x¿sf l;sfOpknlAw d"Nofª\sg ug{ l;sfOsf txcg'¿k k|Zgx¿sf lglZrt k|sf/ / 

;ª\Vof, cª\sef/, ;do cflb o;df /flvg] x'Fbf k|Zgkq lgdf{0f ug{ o;n] dfu{bz{g u5{  . 

t;y{ d"Nofª\sgnfO{ k|efjsf/L ¿kdf k|of]u ug{ o;n] ;3fpF5 . 

-u_ ljBfyL{x¿sf] l;sfOdf clej[l4 ug{ M o; tflnsfdf l;sfOsf s'gs'g txx¿nfO{ dfkg ug]{ / 

x/]s txsf l;sfOnfO{ slt ef/ lbg] eGg] h:tf s'/fx¿ /flvPsf] x'G5 . t;y{ lzIf0fl;sfO 

lj|mofsnfkdf oL s'/fx¿nfO{ ;fd~h:o sfod u/fpg ;lsPdf ljBfyL{sf] l;sfOdf clej[l4 

x'g hfG5 . o; tflnsfdf 1fg, af]w, Jofjxfl/s l;k tyf pRr bIftf dfkg ug]{ u/L k|Zgx¿ 

txcg';f/ lgdf{0f ug]{ k|lj|mof pNn]v x'g] x'gfn] klg o; tflnsfsf] k|of]u ;xL ¿kdf ePdf 

ljBfyL{sf] l;sfO clej[l4df ;xof]u k'Ug hfG5 . 

$= ljBfyL{ d"Nofª\sg k|lj|mof 

ljBfno txdf ljBfyL{ pknlAw d"Nofª\sgsf nflu lgdf{0ffTds d"Nofª\sg k|lj|mof cjnDag u/L 

l;sfO ;'wf/sf nflu lg/Gt/ k[i7kf]if0f k|bfg ul/g'sf ;fy} lg0f{ofTds d"Nofª\sg 

k|lj|mofnfO{ cjnDag u/L ljBfyL{sf] l;sfO:t/ lgwf{/0f ug'{k5{ . 
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-s_ cfGtl/s  d"Nofª\sg  

-c_ cfGtl/s  d"Nofª\sg lgdf{0ffTds d"Nofª\sgsf ¿kdf ;DkGg ug'{kg]{ 5 . lgdf{0ffTds 

d"Nofª\sgsf] d'Vo p2]Zo ljBfyL{x¿sf] l;sfO :t/df ;'wf/ ug'{ xf] . o;sf nflu lzIfsn] 

ljBfyL{sf] JolStut l;sfO pknlAwsf cfwf/df k6s k6s l;sfO cj;/ k|bfg ug{'kg]{ 

5 . ljBfno txsf] lgdf{0ffTds d"Nofª\sgdf sIffut l;sfO ;xhLs/0fsf] cleGg cª\usf 

¿kdf u[xsfo{, sIffsfo{, k|of]ufTds tyf kl/of]hgf sfo{, ;fd'bflos sfo{, cltl/St 

lj|mofsnfk, PsfO k/LIff, dfl;s tyf q}dfl;s k/LIff h:tf d"Nofª\sgsf ;fwgx¿sf] 

k|of]u ug{ ;lsg] 5 . o:tf] d"Nofª\sgdf ljBfyL{sf] clen]v /fvL l;sfO cj:yf olsg 

u/L ;'wf/fTds tyf pkrf/fTds l;sfOaf6 ;'wf/ ug]{ kIfdf hf]8 lbOg] 5 . ljz]if l;sfO 

cfjZostf ePsf ljBfyL{sf nflu ljifo lzIfsn] g} pko'St k|lj|mof ckgfO{ d"Nofª\sg 

ug'{kg]{ 5 .  

lgdf{0ffTds d"Nofª\sgsf] glthfnfO{ clen]vLs/0f u/L ljifout kf7\oj|mddf 

tf]lsPcg';f/ lglZrt ef/ cfGtl/s d"Nofª\sgsf ¿kdf lg0f{ofTds d"Nofª\sgdf ;dfj]z 

ul/g] 5 .  

-cf_ k|To]s clgjfo{ tyf  P]lR5s ljifodf ljBfnon] k|of]ufTds÷Jofjxfl/s cEof; u/fpg'kg]{ 

5 . o:tf] cEof;df ljifosf] k|s[ltcg';f/ k|of]ufTds sfo{, kl/of]hgf sfo{, ;fd'bflos 

sfo{, k|:t'tLs/0f, vf]h, OG6g{l;k, cltl/St sfo{snfk, v]ns'b, ufog cflb sfo{ u/fpg 

;lsg] 5 . t/ ;DalGwt ljifosf] kf7\oqmdn] tf]s]cg';f/sf] k|of]ufTds cEof; u/fpg'kg]{ 

5 . 

-v_ lg0f{ofTds d"Nofª\sg M dfWolds tx -sIff !! / !@_ df lgDgfg';f/ lg0f{ofTds d"Nofª\sg 

ug'{kg]{ 5 M 

-c_ lgdf{0ffTds d"Nofª\sgaf6 k|fKt glthfsf cfwf/df cfGtl/s d"Nofª\sgsf] / 

clGtd÷afx\o k/LIffsf] glthfsf cfwf/df tf]lsPsf] ef/ ;dfj]z u/L ljBfyL{sf] 

lg0f{ofTds d"Nofª\sg ul/g] 5 .  

-cf_ cfGtl/s d"Nofª\sgsf ¿kdf lgdf{0ffTds d"Nofª\sgaf6 k|fKt ljifout kf7\oj|mddf 

tf]lsPcg';f/sf]] ef/sf] d"Nofª\sg lg0f{ofTds d"Nofª\sgdf ;dfj]z ul/g] 5 . cfGtl/s 

d"Nofª\sgsf tl/sfdf ljifout ljljwtf x'g ;Sg] eP klg lgDglnlvt kIfsf] d"Nofª\sg 

;a} ljifodf ;dfj]z x'g] 5 M 

 sIff ;xeflutfsf] d"Nofª\sg M ljBfyL{sf] lgoldttf -pkl:ylt_ / sIff 

lj|mofsnfkdf ;xeflutfsf] clen]vsf cfwf/df ul/Psf] d"Nofª\sg . 

 q}dfl;s k/LIffx¿sf cª\ssf cfwf/df k|fKt cª\s M klxnf] q}dfl;s cjlwe/df 
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k7gkf7g ePsf ljifoj:t'af6 klxnf] q}dfl;s k/LIff ;~rfng ul/g] 5 eg] klxnf] 

/ bf];|f] q}dfl;s cjlwe/df k7gkf7g ePsf ljifoj:t'af6 bf];|f] q}dfl;s 

k/LIff ;~rfng ul/g] 5 . 

 k|of]ufTds tyf kl/of]hgf sfo{sf] d"Nofª\sg  

 ljifout kf7\oj|mddf tf]lsPcg';f/sf cGo cfwf/x¿  

-O_ sIff !! / !@ df ljifout kf7\oj|mddf tf]lsPcg';f/sf] ef/sf] afx\o  k/LIff x'g] 5 . 

afx\o k/LIff ;}¢flGts jf ;}¢flGts / k|of]ufTds b'j} x'g ;Sg] 5 . ;}¢flGts / k|of]ufTds 

b'j} d"Nofª\sgsf] 5'6\6f5'6\6} >]0fLs/0f ul/g] 5 . 

-O{_ k|of]ufTds, ;}4flGts tyf cGo kIfsf] d"Nofª\sgsf] ef/, ljlw tyf ;fwg ;DalGwt 

ljifosf] kf7\oj|mddf pNn]v ePcg';f/ x'g'kg{] 5 . ;}4flGts kIfsf] d"Nofª\sgsf nflu 

ljlzi6Ls/0f tflnsf lgdf{0f ul/g] 5 . ;}4flGts d"Nofª\sgsf  nflu  &% k|ltzt ef/ 

x'g] ljifodf # 306f / %) k|ltzt ef/ x'g] ljifodf @ 306f ;do lgwf{/0f ul/g] 5 .  

-p_ k/LIffdf ljz]if l;sfO cfjZostf ePsf ljBfyL{x¿nfO{ s]xL vf; vf; ljifox¿df c¿ 

;fwf/0f ljBfyL{x¿nfO{ lbOg] k|ZgeGbf cnu k|Zg agfO{ d"Nofª\sg ug'{kg]{ 5 . ljz]if 

cfjZostf ePsf ljBfyL{sf nflu k/LIffsf] ;do yk ug{ ;lsg] 5 . ljBfyL{ d"Nofª\sg 

ubf{ lzIfsn] ckfª\utf ePsf / ljz]if l;sfO cfjZostf ePsf ljBfyL{x¿sf nflu 

pko'St x'g] d"Nofª\sg k|lj|mof ckgfpg'kg]{  5 . 

-pm_ ljBfyL{sf] :t/ lgwf{/0f (Grading) cIf/fª\sg k4ltaf6 x'g] 5 . 
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@= g]kfnL 

ljlzi6Ls/0f tflnsf 

sIff !! (NEP. 001) 

j|m=;= 

k/
LI
f0
fLo

 k
f7
\oj

:t
' 

-k
9f
O 

/ 
n
]v
fO
_ 

k|Z
gs

f] 
k|s

[lt
 

1
fg

 

af
]w 

Jo
fj

xf
l/
s
 l
;
k 

p
Rr

 b
If
t
f 

h
Dd

f 
;
f]lw

g] 
k|Z

g 

p
Tt

/ 
lb
g'k

g]{ 
k|Z

g 

c
ª\s

 e
f/
 

:ki6Ls/0f 

!= g]kfnL j0f{ 
klxrfg  

klxrfg !    ! 

 

! # pRrfo{ tLgcf]6f Jo~hg j0f{ lbO{ ltgsf] :yfg, k|oTg, 3f]ifTj / 

k|f0fTjdWo] s'g} b'O{ cfwf/af6 k|Zg ;f]Wg] cyjf kf7af6 s'g} tLg 

jfSosf] Pp6f cg'R5]b lbO{ tLgcf]6f  Jo~hg j0f{nfO{ uf9f jf 

/]vfª\sg u/L ltgsf]  :yfg, k|oTg, 3f]ifTj / k|f0fTjdWo] s'g} b'O{ 

cfwf/af6 k|Zg ;f]Wg] 

@= j0f{ljGof;  k'gn]{vg   !  ! ! # j0f{  b'O{, dfqf  b'O{,  n]Vo lrx\g Ps / kbof]u ÷kbljof]u Ps 

u/L hDdf 5cf]6f cz'l4 ePsf] Pp6f cg'R5]b lbg] / z'4 u/L 

k'gn]{vg ug{ nufpg] . 

#= kbju{ klxrfg klxrfg   !  ! ! @ Pp6f cg'R5]b lbO{ ljleGg kbju{sf rf/ zAbsf] kbju{ klxrfg 

ug{ nufpg] . o;df sDtLdf Pp6f zAb rflxF ju{ ljrng ePsf] 

lbg] . 

$= zAb;|f]t / 
zAbsf]zLo 
k|of]u 

zAbe08f/ !  !  @ @ $ -s_ kf7af6 klRr; zAb;Ddsf] Pp6f cg'R5]b lbO{ To;af6 

tT;d, tb\ej / cfuGt'sdWo] s'g} b'O{ cfwf/af6 cfPsf b'O{ 

b'O{cf]6f zAb klxrfg ug{ nufpg] 
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-v_ rf/cf]6f zAb lbO{ zAbsf]zsf] k|ljli6cg';f/ zAbj|md 

ldnfP/ n]Vg nufpg]  

%= jfSodf k|of]u zAbe08f/   @  @ ! # sDtLdf kfFrcf]6f k|fljlws÷kfl/eflifs zAb k|of]u ePsf] cg'R5]b 

lbO{ tLgcf]6f  k|fljlws÷kfl/eflifs zAb klxrfg ug{ nufO{ 

jfSodf k|of]u ug{ nufpg]   

cyjf 

cg's/0ffTds zAb b'O{, pvfg  b'O{,  / 6'Ssf  b'O{ k|of]u ePsf] 

Pp6f cg'R5]b lbO{ Ps Pscf]6f cg's/0ffTds zAb, pvfg / 6'Ssf 

klxrfg ug{ nufP/ jfSodf k|of]u ug{ nufpg] 

^= zAb lgdf{0f klxrfg 

tyf k|of]u 

 

  #  # @ $ -s_ pk;u{ / k|Too nfu]/ ag]sf sDtLdf rf/cf]6f pk;u{ 

Jo'TkGg / rf/cf]6f k|Too Jo'TkGg zAb ePsf] cg'R5]b lbO{ 

To;af6 b'O{cf]6f pk;u{ Jo'TkGg / b'O{cf]6f k|Too Jo'TkGg 

zAb klxrfg u/L lgdf{0f k|lj|mof b]vfpg nufpg]  

-v_ sDtLdf rf/cf]6f ;d:t / rf/cf]6f låTj zAb ePsf] 

cg'R5]b lbO{ To;af6 b'O{cf]6f ;d:t zAb / b'O{cf]6f låTj 

zAb klxrfg u/L ;d:t zAbnfO{ lju|x / låTj zAbsf] 

bf]xf]l/Psf] c+z n]Vg nufpg] 

-u_ sDtLdf 5cf]6f ;lGwo'St Jo'TkGg zAb ePsf] cg'R5]b lbO{ 

To;af6 ;lGwo'St rf/cf]6f zAb klxrfg u/L ;lGw ljR5]b 

;d]t ug{ nufpg] 

&= sf]l6sf cfwf/df 
¿kfog 

klxrfg / 
k|of]u  

  @ 

 

 @ 

 

@ 

 

$ lnª\u, jrg, k'?if / cfb/dWo] s'g} b'O{cf]6f cfwf/af6 rf/ rf/cf]6f 

jfSosf] cg'R5]b lbO{ s'g} Pp6f cfwf/df ¿kfog ug{ nufpg]  

*= p2]Zo÷ljw]o, 
kb ;ª\ult 

klxrfg /   @  @ @ $ -s_ rf/cf]6f jfSo ePsf] cg'R5]b lbO{ p2]Zo / ljw]o jf p2]Zo 
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jfSofGt/0f  k|of]u  lj:tf/ / ljw]o lj:tf/ klxrfg ug{ nufpg] jf ;ª\ult 

gldn]sf rf/cf]6f jfSo ePsf] cg'R5]b lbO{ p2]Zo / ljw]o, 

gfd / ;j{gfd, ljz]if0f / ljz]io, e]bs / e]Bsf cfwf/df 

;ª\ult ldnfO{ k'gn]{vg ug{ nufpg]  

-v_ w'|jLotf k|of]u ePsf rf/cf]6f jfSosf] cg'R5]b lbO{ Pscsf{df 

kl/jt{g ug{ nufpg] jf k|ToIf jf ck|ToIf syg ePsf 

rf/cf]6f jfSo lbO{ syg kl/jt{g ug{ nufpg] 

(= k7gaf]w    @   @ @ $±
$Ö 
* 

-s_ b[i6f+z  kf7af6 !%) zAb;Ddsf] uBf+z lbO{ tYok/s, 

lgisiff{Tds, cg'dfgfTds / ;Gbe{af]ws rf/ k|Zg ;f]Wg]  

-v_ cb[i6f+z af]waf6 !%) zAb;Ddsf] uBf+zaf6 kb kbfjnLsf] 

cy{ Ps, k|of]hgk/s ljifo b'O{, Jofs/0f -zAblgdf{0f, kbju{, 

w'|jLotfdWo] Ps_ ;DaGwL Ps u/L rf/cf]6f ax'a}slNks k|Zg 

;f]Wg] 

!)= a'Fbf l6kf]6 / 
;f/f+z  

a'Fbf l6kf]6, 
;ª\If]kLs/0f  

   ! ! ! @±
@Ö
$ 

cb[i6f+z s'g} Ps cg'R5]b lbO{ cg'R5]baf6 k|d'v rf/cf]6f a'Fbf 

l6kf]6 u/L Ps t[tLof+zdf ;f/f+z n]Vg nufpg]  

!!= Jofjxfl/s 
n]vg  

 

/rgf    @ @ ! $ 3/fo;L lr7L, lgj]bg, Jofj;flos kq, ;DkfbsnfO{ lr7L, ;"rgf 

/ lj1fkgdWo] s'g} Ps tyf awfO{, z'esfdgf, lgdGq0ff, >4f~hnL, 

;dj]bgfdWo]af6 s'g} Ps u/L hDdf b'O{cf]6f k|Zg ;f]wL Pp6f 

k|Zgsf] pQ/ n]Vg nufpg]  

!@= k|ltj]bg, b}lgsL, 
l6Kk0fL tyf 
jSt[tf n]vg 

cleJolSt 

 

   @ @ ! $ -s_ lgwf{l/t 9fFrfdf 36gf, ;df/f]x, :ynut e|d0fdWo] s'g} Ps 

ljifodf !%) zAb;Ddsf] Pp6f k|ltj]bg jf ;d;fdlos 

ljifodf !%) zAb;Ddsf] l6Kk0fL n]Vg nufpg]  

-v_ s'g} Ps ljifodf !%) zAb;Ddsf] b}lgsL, jSt[tf n]Vg nufpg 
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!#= k|ltlj|mof n]vg k|ltlj|mofTds 
pQ/ 

   ! ! ! $ ;d;fdlos 36gf;Fu ;DalGwt Pp6f k|Zg ;f]wL sDtLdf !@% 

zAb;Ddsf] k|ltlj|mof n]Vg nufpg]  

!$= kf7ut af]w ;Gbe{df 
cfwfl/t 5f]6f] 
pQ/fTds 

 #   # @ $±
$ 
Ö* 

lgwf{l/t sljtf, syf, lgaGw, hLjgL,  l/kf]tf{h, ;+jfb / 

n3'gf6saf6  s'g} p4/0f jf c+z lbO{ s'g} tLg k|Zg ;f]Wg] / 

b'O{cf]6fsf] dfq pQ/ n]Vg nufpg]]  

!%= kf7ut af]w ;dLIffTds  @   @ ! * syf, sljtf, lgaGw / hLjgLaf6 ljifoj:t', d"nefj / kfq;Fu 

;DalGwt b'O{cf]6f k|Zg ;f]Wg] / s'g} Pp6f k|Zgsf] ;dLIffTds pQ/ 

n]Vg nufpg]   

!^= lgaGw n]vg :jtGq /rgf    # # ! * cfTdk/s / j:t'k/s z}nLsf tLgcf]6f zLif{s lbO{ @%) zAbdf 

g36fO{ Pp6f lgaGw n]Vg nufpg]  

hDdf     #) @@ &% 
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gd'gf k|Zgkq 

sIff M !! k"0ff{ª\s M &%  

ljifo M clgjfo{ g]kfnL (NEP. 001) ;do M # 3G6f 

!= lbOPsf] cg'R5]bsf /]vfª\lst j0f{x¿sf] pRrf/0f :yfg / k|f0fTj 5'6\ØfO{ n]Vg'xf];\ . -#_ 

of]udfof n}ª\lus lje]bsf] klg s6\6/ lj/f]wL lyOg\ . pgL afnljjfxsf] ljkIfdf plelGyg\ 

t/ :j}lR5s ljwjf ljjfxsf] ;dy{g uly{g\ .   

@= z'4 u/L k'gn]{vg ug'{xf];\ M -#_ 

x]g'{;\ ab|LhL xfdLn] v]tdf /fzfolgs dn / ljifflbsf] k|of]u u¥of}F . jfnLsf] pmTkfbg a9fpg] 

sfddf  ;fyLx¿n] tkfO{F ;Fu ;Nnfx dfu]sf 5g\ . 

#= cg'R5]bdf /]vfª\sg ul/Psf zAbsf] kbju{ klxrfg u/L n]Vg'xf];\ . -@_  

cfh pgn] dnfO{ w]/} s'/fx¿ ;f]w] . pgn] ;f]w]sf s'/fx¿dWo] vf;} w]/} a'lemgF .  d}n] s]df s'/f 

eof] eGg] klg /fd|/L a'lemgF . pgn] dnfO{ kmf]gaf6 afFsL s'/f ;'gfP . 

$= lbOPsf k|Zgsf] pQ/ lbg'xf];\ . -@ + @ Ö $_ 

-s_ lbOPsf] cg'R5]baf6 b'O{ b'O{cf]6f tT;d / cfuGt's zAb klxrfg u/L n]Vg'xf];\ . 

j|mdzM cUnf] x'Fb} uPsf] si6k|b, s7f]/, b'u{d kxf8sf] IfL0f kynfO{ gh/n] e]6];Dd 

x]bf{ dfG5] kf] xf] ls eGg] e|d kfg]{ Pp6f wAaf h:tf] klg s]xL b]lvPg . 

-v_ lbOPsf zAbx¿nfO{ zAbsf]zLo j|mddf ldnfO{ n]Vg'xf];\ . 

Jojxf/, c+z, qf;, 1fg 

%= lbOPsf] cg'R5]baf6 tLgcf]6f kfl/eflifs zAb klxrfg u/L jfSodf k|of]u ug'{xf];\ . -#_  

lxhf]eGbf cfh x/]s ;ª\j|mfds /f]usf] pkrf/ vf]kåf/f ;Dej x'Fb} uPsf] 5 . b]zdf s'kf]if0faf6 

d[To' x'g] afnaflnsfx¿sf] tYofª\s ;fj{hlgs ul/Psf] clen]vaf6 yfxf kfpg ;lsG5 .   

cyjf 
 lbOPsf] cg'R5]baf6 Pp6f cg's/0ffTds zAb, Pp6f pvfg / Pp6f 6'Ssf klxrfg u/L ltgnfO{ 

jfSodf k|of]u ug'{xf];\ M 

x'g] la?jfsf] lrNnf] kft eg] em}F ;a} ;fyLnfO{ d]v dfb}{ k/LIffdf k|fKt 

u/]sf] :jlKgnsf] ;kmntfaf6 p;sf cleefjs v';Ln] ub\ub eP . csa/L ;'gnfO{ s;L 

nufpg' kb}{g eGb} d]wfjL ljBfyL{ :jlKgnn] ;a}sf] gfs /fv]sfdf cfkm"nfO{ w]/} v';L nfu]sf] 

s'/f ljBfnosf k|wfgfWofksn] d';'d';' xfF:b} ;a}nfO{ atfP . 
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^= s'g} b'O{ k|Zgsf] pQ/ lbg'xf];\ . -@ × @ Ö $_  

-s_ cg'R5]baf6 b'O{cf]6f pk;u{ / b'O{cf]6f k|Too Jo'TkGg zAb klxrfg u/L ltgsf] lgdf{0f 

k|lj|mof b]vfpg'xf];\ M 

k|d'v /fhgLlts bnx¿n] u}/lhDd]jf/ ag]/ d'n'snfO{ clg0f{osf] aGbL agfpg' x'Fb}g . 

bnLo st{Jo / /fli6«o lhDd]jf/LnfO{ a'em]/ ;s];Dd rfF8} g} lgsf; lbg] sfddf s]lGb|t 

x'g' cfjZos 5 .   
-v_ cg'R5]baf6 b'O{cf]6f ;d:t zAb klxrfg u/L lju|x ug'{xf];\ / b'O{cf]6f låTj zAb klxrfg 

u/L] bf]xf]l/Psf] c+z 5'6\ofpg'xf];\ M 

b]zlxtdf nfu]sf kLtfDa/ / gLns07 cfcfˆgf] st{Jo k"/f ub}{ ufpFa:tLsf] pGgltdf 

dgjrgsd{n] nfu]sf 5g\ . Pscsf{df ;/;xof]u / d/dbt dg]{ clg ;'vb'Mvdf ;fy 

lbg pgLx¿sf] cfgLafgLsf] 5/l5d]sdf d'Sts07n] k|z+;f x'g] u/]sf] 5 .   

-u_ cg'R5]baf6 rf/cf]6f ;lGwo'St zAb klxrfg u/L ;lGw ljR5]b ug{'xf];\ M  

xfd|f] b]zsf] lxdfnL ;f}Gbo{, k|fs[lts e"agf]6 k'/ftflTjs dxŒjsf j:t'x¿sf] cjnf]sg 

ug{ ljb]zL ko{6sx¿ g]kfndf cfpF5g\ . pgLx¿ g]kfnLx¿sf] cfltYo ;Tsf/af6 xlif{t 

x'Fb} xFl;nf] cg'xf/ nufO{ :jb]ztkm{ kmsG5g\ .   

&= lbOPsf k|Zgsf] pQ/ lbg'xf];\ . -$_   

-s_ lbOPsf] cg'R5]bnfO{ k'lnª\u eP :qLlnª\u / :qLlnª\u eP k'lnª\udf kl/jt{g u/L k'gn]{vg 

ug'{xf];\ M 

pgn] uB z}nLdf sljtf n]v] . To; sljtfnfO{ d]/L dfOh"n] dg k/fpg'eof] . sfsL / 

km'k"n] sljtf jfrg u/]/ ;'gfpg] OR5f ug'{eof] . d}n] klg pxfFx¿;Fu} sljtf jfrg 

u/]/ ;'gfPsL lyPF .   

-v_ lbOPsf] cg'R5]bnfO{ Psjrg eP ax'jrg / ax'jrg eP Psjrgdf kl/jt{g u/L 

k'gn]{vg ug'{xf];\ M  

d}n] ufpFdf k'/fgf] ;fyLnfO{ e]6]F . xfdLn] r/fx¿ / hnr/x¿sf af/]df w]/} a]/ s'/f 

u¥of}F . ;fyLn] cfˆgf] k|ultsf] syf ;'gfof] . p;sf s'/f ;'g]/ d]/f ;fyLx¿ bª\u k/] . 

*= s'g} Ps k|Zgsf] pQ/ lbg'xf];\ . -$_  

-s_ tnsf uBf+zaf6 b'O{cf]6f p2]Zo / ljw]o tyf b'O{cf]6f p2]Zo lj:tf/ / ljw]o lj:tf/ kb 

klxrfg u/L n]Vg'xf];\ M  

k|ltefzfnL /df lgoldt ljBfno hfG5] . k9fOsf ;fy} v]ns'bdf klg ?lr /fV5] . lxhf] 

u'?n] k'/:sf/ klg lbg'eof] . ;fyLx¿n] klg p;sf] tfl/km u/] .  
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cyjf 
 lbOPsf] cg'R5]bnfO{ ;ª\ult ldnfO{ k'gn]{vg ug'{xf];\ M 

d]/f] cfdf kxf8df al:5g\ . pm c;n x'g'x'G5 .  ToxfFaf6 cUnf] lxdfnx¿ x]g{ kfOG5 . ltdL 

klg lxdfn x]g{ cfPsf] 5 . 

-v_ lbOPsf] jfSonfO{ s/0f eP cs/0f / cs/0f eP s/0fdf kl/jt{g u/L cg'R5]b k'gn]{vg 

ug'{xf];\ M 

pgLx¿ ;w}F k':ts k|bz{gLdf hfG5g\ . ;a}n] s]xL k':tsx¿ lsG5g\ . le8ef8df s]xL 

klg vfFb}gg\ . pgLx¿nfO{ slQ ysfO nfUb}g .  

cyjf 
 lbOPsf jfSox¿nfO{ k|ToIf eP ck|ToIf / ck|ToIf eP k|ToIf sygdf kl/jt{g ug'{xf];\ M 

-c_ dnfO{ b'O{ lbg a:g /fhgn] cfu|x u¥of] .  

-cf_ ltdLn] dnfO{ eGof}, æxfdL klg hfcf}Fnf .Æ  

-O_ ;fyLn] Toltv]/ s] sfd ug'{ 5 egL k|Zg u/] . 

-O{_ xfdLn] eGofF}, æpgLx¿ rfF8} cfpF5g\ .Æ   

(= b'j} k|Zgsf] pQ/ lbg'xf];\ . -$ + $ Ö *_ 

-s_ lbOPsf] cg'R5]b k9L ;f]lwPsf k|Zgsf] 5f]6f] pQ/ n]Vg'xf];\ M  

hnsf ljleGg :j¿k x'G5g\ . klUng], clUng] / p8\g] ;Sg] Ifdtf kfgLdf x'G5 . lxpF klUnP/ 

gbL aGbf gbLsf] kfgL afkm aG5 / lxdfnsf yfKnfdf lxpF hD5 . 7f];, t/n, UofF; dfq xf]Og 

kfgLdf cfuf] cf]sNg] pmHff{ x'G5 . ljB't\ kfgLaf6} lgsflnG5 . o:tf] dxTjk"0f{ rdTsf/L 

kfgL ;b'kof]u u/] aGb5 ;'vL lhGbufgL, b'?kof]u eP b'Mvd} laT5 lhGbufgL . 7f];, t/n, 

UofF;, /fk, tfk, t]h;Fu}sf] pmhf{n] ljZjdf cljsf;sf ;f/f :j¿knfO{ r'gf}tL lbO/x]sf] 5 . 

cfh xfdL cfkm}F;Fusf] lagf glrg]/ efF}tfl/O/x]sf] s:t'/L em}F ePsf 5f}F . hn;|f]tdf wgL /fi6« 

eP klg lbuf] k"jf{wf/ ljsf;sf of]hgfsf cefjn] ubf{ xfdL ;|f]t / ;fwg eP klg cFWof/fdf 

a:g afWo 5f}F . pj{/fe"ld eP/ klg l;FrfOsf cfw'lgs k|ljlw ckgfpg g;Sbf hUuf afFem} 5g\, 

hgtf ef]sef]s} 5g\ . o'jfzlSt lab]l;g afWo 5g\ . ljsf; lgdf{0fn] ljZjnfO{ rlst 

kfg]{ l5d]sLnfO{ 6'n'6'n' x]/]/ ufF;, af;s} ;d:ofdf lk/f]lng afWo 5 xfd|f] ;dfh . of] 

cj:yfnfO{ abn]/ ljZj k|lt:kwf{df xf]ldg ;Sg agfpg] Ifdtf hn;|f]tdf dfq 5 . xfdL 

cd[t ;dfg lxdfnsf] s~rg kfgL af]tndf a]r]/ ljZjsf dflg;sf] ltvf{ d]6fpg ;S5f}F . 

sgf{nLdf hnljxf/, sf];L / tfdfsf];Ldf l;FrfOsf plrt Joj:yfkg u/]/ wtL{ pj{/f 

agfpg ;S5f}F . 
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k|Zgx¿ 

-s_ kfgLnfO{ dxTjk"0f{ rdTsf/L lsg elgPsf] xf] < 

-v_ hn;|f]t / phf{sf If]qdf lbuf] ljsf; s;/L ug{ ;lsG5 < 

-u_ wtL{nfO{ pj{/f agfpg] cfwf/x¿ s] s] x'g\ < 

-3_ /fi6« lgdf{0fdf l;FrfOsf] s:tf] e"ldsf x'G5 xf]nf < 

-v_ lbOPsf] cg'R5]b k9L ;f]lwPsf k|Zgsf] pQ/ n]Vg'xf];\ M 

d'n'sdf /x]sf] a]/f]huf/ Pjd\ cg'Tkfbs >d zlStnfO{ pgLx¿sf] of]Uotf, l;k tyf bIftf 

cg'¿k cGo ljleGg d'n'sdf /f]huf/Lsf nflu k7fO{ pgLx¿dfkm{t j}b]lzs ljk|]if0f cfo, l;k, 

k|ljlw / cg'ej :jb]zdf leq\ofOG5 . g]kfnsf] cy{Joj:yfdf j}b]lzs /f]huf/Lsf] of]ubfg 

pNn]vgLo /x]sf] 5 . ljutsf] åGåsf] ;dodf cy{tGqsf cfGtl/s kIfx¿ s[lif, pBf]u, Jofkf/ 

nufotsf If]qx¿df gsf/fTds c;/ k/]sf] cj:yfdf ;d]t j}b]lzs /f]huf/Ln] lg/Gt/ 6]jf 

k'¥ofP tfklg bIf sfdbf/ !=% k|ltzt, @$ k|ltzt cw{bIf / &$=% k|ltzt cbIf hgzlQm 

ljb]lzg] x'Fbf g]kfnn] o;af6 k"0f{ nfe lng ;ls/x]sf] 5}g . g]kfnL sfdbf/sf] d'Vo uGtJosf 

¿kdf stf/, dn]l;of, ax/fOg, ;fpbL c/]ljof, ;+o'Qm c/a Old/]6\; / s'a]t /x]sf 5g\ . 

j}b]lzs /f]huf/ ljsf;sf] bL3{sfnLg ;|f]t xf]Og . d'n'sleq} s[lif If]qsf] cfw'lgsLs/0f Pjd\ 

Joj;foLs/0f, pBf]u If]qsf] ljsf; / la:tf/ tyf ljljw :j/f]huf/Lsf cj;/ l;h{gfdfkm{t 

afWofTds j}b]lzs /f]huf/Lsf] cGTo u/L bIf Pjd\ l;ko'Qm hgzlQmnfO{ dfq j}b]lzs /f]huf/Ldf 

kl/rfng ub}{ j}b]lzs /f]huf/LnfO{ ;'/lIft, dof{lbt / Jojl:yt u/]df g]kfnn] cfly{s ljsf;df 

j}b]lzs /f]huf/Laf6 clwstd nfe lng ;lsG5 . 

-s_ ljk|]if0f zAbsf] cy{ s'g xf] < 

-c_ /]ld6\ofG; -cf_ tna -O_ /f]huf/L -O{_ cfDbfgL 

-v_  g]kfnsf] cy{tGqsf cfGtl/s kIfx¿ s] s] x'g\ < 

-c_ Jofkf/ / h8La'6L -cf_ oftfoft / lzIff -O_ :jf:Yo / /f]huf/ -O{_ s[lif / pBf]u 

-u_ ljsf;sf] bL3{sfnLg ;|f]t s] xf] < 

-c_ j}b]lzs /f]huf/L -cf_ ;'/lIft nufgL -O_ s[lifsf] cfw'lgsLs/0f -O{_ >d :jLs[lt 

-3_ g]kfnL sfdbf/sf] d'Vo uGtJosf ¿kdf stf/, dn]l;of, ax/fOg, ;fpbL c/]ljof, ;+o'Qm c/a 

Old/]6\; / s'a]t /x]sf 5g\ .Ú eGg] jfSodf …uGtJoÚ s:tf] zAb s] xf] < 

-c_ pk;u{ Jo'TkGg -cf_ k|Too Jo'TkGg -O_ ;d:t zAb  -O{_ låTj zAb 

!)= cg'R5]baf6 rf/cf]6f a'“bf l6kL Ps t[tLof+zdf ;f/f+z ug'{xf];\ . -@±@ Ö $_ 

xfd|f] ;dfh d"t{ / cd"t{ ;+:s[ltsf] ld>0f xf] . xfd|f ufpF tyf ;x/df k|frLg ;Eotfsf w/f]x/ 
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oqtq 5g\ . ;fs]nf, rf;f]s, Rofa|'ª / wfg gfrdf /dfpg] dg x'8\s]nL, ;f]/7L / df?gLdf 

TolQs} /dfpF5 . b]p8f / 3f6'n] ef}uf]lns ;Ldf gf3]/ af:gf 5/]sf 5g\ . rfGbL, 8fF8L, xg'dfg\ 

/ k~ra'4 g[Tox¿ xfd|f d'6'sf 9's9'sL ag]sf 5g\ . zf:qLo / nf]s g[To, uLt / jfbgdf xfd|f 

cgGo ;Dkbf 5g\ . :ofa|f] / lthLn] ;lvof, ;Gyfn / ;/fo;Fu ldt]/L nfpF5g\ . e'cf], v}Fh8L, 

afn'g, ;FlugL / nfv] kxf8L ;f}Gbo{ ag]sf 5g\ . afnL nfpFbf, leq\ofpFbf, bfOF ubf{ ufOg] 

uLtx¿ k'ghL{jgsf] cf; ub}{ 5g\ . uGwj{, rof{, vfF8f] / ufyfx¿ s'gfsGb/fdf hLljt} 5g\ . 

oxfF efiffsf] e08f/ 5 . ;+:sf/, /Lltl/jfh / k/Dk/fsf kf/vLx¿ xfd|f ufpFdf e'N5g\, ;x/df 

/dfpF5g\ . vfgkfg / klx/gdf hftLo, If]qLo / ;fd'bflos ljljwtf 5g\ . dlGb/, ljxf/, dl:hb, 

luhf{3/, u'?åf/f, yfg / dfuf{:yfgx¿ xfd|f cf:yfsf s]Gb| x'g\ . xfdL efiff, wd{, ;+:s[lt / 

k/Dk/fdf ax'n 5f}F t/ cfk;df ;lxi0f' 5f}F . of] g} ljZjdf xfd|f] cg'kd klxrfg xf] . 

!!= s'g} Ps k|Zgsf] pQ/ lbg'xf];\ . -$_ 

-s_ :yfgLo :jf:Yo s]Gb|n] ;j{;fwf/0f hgtfnfO{ sf]/f]gf efO/; lj?4sf] vf]k nufpg hf/L 

ug]{ ;fj{hlgs ;"rgfsf] gd'gf tof/ kfg'{xf];\ .  

-v_ s;}sf] z'e ljjfxsf cj;/df cfkmGthgx¿nfO{ cfdGq0f ug{ lbOg] lgdGq0ff kqsf] 

gd'gf tof/ kfg'{xf];\ .  

!@= s'g} Ps k|Zgsf] pQ/ lbg'xf];\ . -$_ 

-s_ cfˆgf] ljBfnosf] jflif{sf]T;jsf] ;Gbe{df cfof]lht ljljw sfo{j|mdnfO{ ;d]6L !%) 

zAb;Ddsf] k|ltj]bg n]Vg'xf];\ .  

-v_ …/fi6«lgdf{0fdf gful/ssf] e"ldsfÚ ljifodf !%) zAb;Ddsf] jSt[tf tof/ kfg'{xf];\ . 

!#= dlxnfdfly x'g] lx+;fnfO{ s;/L lgoGq0f ug{ ;lsPnf < !@% zAb;Dddf cfk\mgf] k|ltlj|mof 

n]Vg'xf];\ . -$_  

!$= s'g} b'O{ k|Zgsf] pQ/ n]Vg'xf];\ . -$ + $ Ö *_ 

-s_ lbOPsf] sljtf+z k9L ;f]lwPsf k|Zgsf] pQ/ lbg'xf];\ M 

s'g kxf8n] s'g vf]nfn] ltd|f] ult 5]s]Yof] /  

jL/ k'vf{ Û s'g cfFwLn] ltd|f] ofqf /f]s]Yof] /  

u?8sf] em}F j]u ltd|f] s'g cfsfzn] afFWg ;Sof]  

kf}/vn] /Rof} g]kfn Û kxf8 t/fO{ h'6\g ;Sof] .  

k|Zgx¿  

-c_ g]kfnLx¿sf] s:tf] kf}/vn] g]kfnsf] /rgf ePsf] xf] <  
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-cf_ xfd|f jL/k'vf{sf] uf}/j ufyfnfO{ sljtfsf cfwf/df j0f{g ug'{xf];\ . 

-v_ lbOPsf] gf6\of+z k9L ;f]lwPsf k|Zgsf] 5f]6f] pQ/ lbg'xf];\ M  

l7s eGg'ef] afaf . ;Gtfgsf] ;'v / lzIffsf nflu eGb} d /ftlbg vl6PF t/ d}n] d]/f] 5f]/fnfO{ ;do 

lbOgF . p;;Fu a;]/ p;sf] k9fOsf af/]df s'/f ul/gF . p;sf ;fyL sf] sf] 5g\ eg]/ slxNo} ;f]wvf]h 

ul/gF . pm sxfF uof], s] u¥of], s] vfof] eg]/ Vofn ul/gF . d t vfln d]/f] Joj;fo, a}7s cflb eGb} 

bf}8w'k ul//x]F . p;n] dfu] hlt k};f lbO/x]F t/ pm t w]/} klxn]b]lv b'Jo{;gsf] l;sf/ eO;s]sf] /x]5 

/ cfh d}n] of] lbg ef]Ug'k¥of] . 

k|Zgx¿  

-c_ o; gf6\of+zdf jStfn] cfkm\gf s] s:tf sdhf]/L /x]sf] l:jsf/]sf 5g\ <  

-cf_ o; gf6\of+zdf JoSt ;d:of s;/L ;dfwfg ug{ ;lsPnf < 

-u_ lbOPsf] lgaGwf+z k9L ;f]lwPsf k|Zgsf] pQ/ lbg'xf];\ M 

ljxª\ud b[li6n] ljrf/ ubf{ ;Dk"0f{ k[YjL Pp6f 3/ xf], u[x xf] . oxfF hn, :yn, jfo', cfsfz / t]h -

k|sfz_ oL kfFr tTj -k~rtTj_ sf lar hnr/, :ynr/, ger/ / ;a} r/fr/ cfkm\gf] hLjg 

latfpFb5g\ . k[YjLnfO{ 5f]8]/ cGo u|xdf hLjfTdfsf] cl:tTj e]l6Psf] 5}g . To;}n] xfdL ;a}n] oxLF 

afFRg'k5{, oxLF dg'{k5{ . of] l;jfo c¿ hfg] 7fpF 5}g . k[YjLsf] kfl/l:ylts k|0ffnLnfO{ layf]lnlbof}F 

eg] xfd|} cl:tTj ;ª\s6df k5{ . xfnsf lbgdf hnjfo' kl/jt{gsf ljifodf ljz]if u/]/ jfo'd08n 

k|b"if0fsf sf/0f k[YjL ;tx ck|Tofl;t 9ª\un] tfTg] j|mdnfO{ lnP/ ljz]if lrGtf / rf;f] xfd|f] ;fd' 

t]l;{Psf] 5 .  

k|Zgx¿  

-c_ k[YjL s;/L ;a}sf] ;femf 3/ x'g;Sb5 <  

-cf_ k[YjLsf] tfTg] j|mdnfO{ /f]Sg s] ug{ ;lsG5 < 

!%= s'g} Ps k|Zgsf] pQ/ lbg'xf];\ . -*_ 

-s_ ;Tolgi7f / ;dtfd"ns ;dfhsf] :yfkgfdf of]udfofn] lbPsf] of]ubfgsf] rrf{ ug'{xf];\ . 

-v_ …ufpFsf] dfofÚ syfdf s:tf] ;dfhsf] lrq0f ul/Psf] 5, ;dLIffTds pQ/ n]Vg'xf];\ . 

!^= lbOPsf dWo] s'g} Ps zLif{sdf @%) zAb;Dddf g36fO{ lgaGw n]Vg'xf];\ . -*_ 

-s_ g]kfndf hn;|f]tsf] ;Defjgf 

-v_ o'jf / :j/f]huf/  

-u_ d]/f] b]z M d]/f] sd{e"ld 
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3. Compulsory English 
ENG. 003 (Grade XI), Eng. 004 (Grade XII) 

Test Specification Chart for External Evaluation 
Reading (35 marks) 
1. Reading Comprehension Test (15 marks) 
One unseen prose text of about 600 words like; book/film reviews, news reports and articles, 
stories, reports, letters or emails, essays, biographies/auto-biographies, product guides, blogs, 
brochures, travelogues/memoire etc. followed by comprehension questions targeting the 
testing of the following skills involved in reading, will be given together with the 
comprehension questions: 
 understanding general content of paragraphs or sections 
 identifying and understanding specific information in the passage 
 scanning and understanding information 
 understanding the opinions of the writer 
 understanding words in context 
 identifying aims of a passage 
 understanding details and order of information 
a. Number of test items: 15 
b. Types of test items: any three of: Multiple Choice, True/False/Not Given, Sentence 

Completion, Matching, Ordering, Summary Completion and Short Answer Questions. 
One type of question should test the vocabulary in context. 

c. The questions should have the mixture of different types of comprehension: literal 
comprehension, reorganization, inference and evaluation. 

2. Text Based Questions (20 marks) 
This section contains seven text based questions from literature section. This follows the 
following chart: 

Genres 
Types of questions 

Short answer questions Long answer questions 
Short stories  

5 
 
2 Poems 

Essays 
One act plays 
Total Short Answer Questions = 5×2 = 10 

Long Answer Questions = 2×5 = 10 
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Short and long answer questions should cover the following skills: 
a. comprehending   
b. narrating  
c. summarizing 
d. writing character sketch 
e. paraphrasing 
f. writing theme/central idea of the text   
g. comparing and contrasting  
h. making judgment (e.g. title justification)  
i. arguing  
j. analysing and interpreting   
k. explaining with reference to context 
l. literary interpretation 
m. critical appreciation 

Writing (25 marks) 
Three writing tasks will be given:  
1. Task 1 (7 marks) 

Any one of: paragraph writing, summary writing, interpreting graphic text, news story 
writing, note taking, and skeleton stories. 
Word limit: 150 words. 

2. Task 2 (8 marks) 
Any one of: personal letter, job application letter, letter to the editor, business letter, 
emails, writing a CV. 
Word limit: 180 words. 

3. Task 3 (10 marks) 
Any one of: essay, travelogue/memoir, book/film review, biography, diary entry, 
communique and press release. 
Word limit: 300 words. 

Grammar and vocabulary (15 marks)  
1. Grammar (10×1=10 marks) 
The test item on grammar will cover the following contents. 

a. Adjectives and adverbs 
b. Concord/subject verb agreement 
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c. Prepositions 
d. Modal auxiliaries 
e. Tense and aspect 
f. Infinitives and gerunds 
g. Conjunctions 
h. Relative clause 
i. Voice 
j. Reported speech 

2. Vocabulary: (5x1= 5 marks) 
This section covers the following contents.  
a. Sound system of English: consonants and vowels 
b. Vocabulary study 

- Stem/root - Suffixes 
- Prefixes - Derivation 
- Inflexion - Synonyms/antonyms 
- Parts of speech - Idioms and phrases 
- Nouns-number - Verb conjugation 
- Spelling - Punctuation 

c. Dictionary use  
d. Idioms and phrasal verbs 
 (Note: Sound System of English will be tested in grade 12 only) 
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Compulsory English 
(ENG. 003) 
Grade XI 

(Model Question) 
Full Marks: 75 Time: 3 hours 

1. Read the text and do the tasks. 15 
Mt Everest grows by nearly a metre to new height 

The world's highest mountain Mount Everest is 0.86m higher than had been previously 
officially calculated, Nepal and China have jointly announced. Until now the countries 
differed over whether to add the snow cap on top. The new height is 8,848.86m (29,032 ft). 
China's previous official measurement of 8,844.43m had put the mountain nearly four metres 
lower than Nepal's. Everest Officials at Nepal's foreign ministry and department of survey 
said surveyors from both countries had co-ordinated to agree on the new height. The 
agreement to jointly announce the new measurement of the Earth's highest point was made 
during Chinese President Xi Jinping's visit to the Nepalese capital, Kathmandu last year. 
Chinese authorities had said previously Mount Everest should be measured to its rock height, 
while Nepalese authorities argued the snow on top of the summit should be included. The 
Chinese surveyors had calculated their figure after they measured the mountain in 2005. 
Nepal's government officials told the BBC in 2012 that they were under pressure from China 
to accept the Chinese height and therefore they had decided to go for a fresh measurement to 
"set the record straight once and for all". The 8,848m height, Nepal had been using for Mount 
Everest was determined by the Survey of India in 1954, but for the first time the country has 
now conducted its own measurement of the summit. Four Nepalese land surveyors spent two 
years training for the mission, before heading to the summit. "Before this, we had never done 
the measurement ourselves," Damodar Dhakal, spokesman at Nepal's department of survey, 
told the BBC. "Now that we have a young, technical team [who could also go to the Everest 
summit], we could do it on our own," Mr. Dhakal said. Nepal's lead surveyor Khimlal Gautam 
lost his toe due to frostbite while on the summit to install height-measuring equipment last 
year. "For summiteers, scaling the highest peak means a great accomplishment. For us, it was 
just the beginning," Mr. Gautam had told BBC Nepali after his return. "Unlike other surveys 
of the Everest in the past, we chose 03:00 to minimise errors that could have been caused 
because of sunlight in the day time." 
Some geologists have suggested a major earthquake in 2015 may have had an impact on 
Mount Everest's height. The 7.8 magnitude earthquake killed nearly 9,000 people in Nepal, 
and caused an avalanche which buried parts of the base camp at the mountain. At least 18 
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climbers were killed. Some geologists said the earthquake may have caused Everest's snow 
cap to shrink. Scientists had found that some other Himalayan peaks such as Langtang Himal, 
mostly to the north of Kathmandu and close to the epicentre, had reduced in height by 
approximately a metre after the earthquake. Others have argued that Mount Everest, like other 
Himalayan peaks, may have actually grown over time because of the shifting tectonic plates 
it sits on. But experts say major earthquakes can result in that process being reversed. "The 
2015 earthquake is also a major reason why we re-measured the mountain," said Mr. Dhakal. 
A. Choose the best answer.       (5X1=5) 

a. The word 'announce' in the 7th line means: 
i. utter words to convey information. 
ii. make a formal statement about a fact. 
iii. communicate information to someone. 

b. The word 'fresh' in the phrase 'fresh measurement' in the second paragraph means: 
i. having its original qualities unimpaired. 
ii. not frozen, tinned or otherwise preserved. 
iii. not previously done, new or different. 

c. The word 'accomplishment' in the 22nd line means: 
i. the omission of expected action. 
ii. an act or instance of falling. 
iii. something that has been achieved successfully. 

d. The word 'shrink' in the 29th line is opposite in meaning to: 
i. expand. 
ii. contract. 
iii. reduce. 

e. The word ‘approximately’ in line 30 line means: 
i.  exactly. 
ii. nearly. 
iii. precisely. 

B. Complete the following sentences in NOT MORE THAN FOUR WORDS. (5×1=5) 
a. Nepal and China previously had different views about adding the ........................ 

to the height of Mt. Everest. 
b. Surveyors from both Nepal and China had worked together to come up with the 

same view on the ........................ of Mt. Everest. 
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c. China's earlier official measurement of 8844.43m was based on the measurement 
done in ......................... 

d. The team leader of Nepal's surveyors lost his toe during the installment 
of ........................ on the top. 

e. Some geologists also had their view that the change in ........................ under Mt. 
Everest may have increased its height. 

C. Answer the following questions. (5×1=5) 
a. What did the surveyors from both Nepal and China agree on to come up with about 

Mt. Everest? 
b. Why did both countries determine to carry out the new measurement of Mt. 

Everest? 
c. Which sentence in the text indicates that it was the first time for Nepal to measure 

the height of Mt. Everest? 
d. Why did the Nepali team take 3:00 as a reference in measuring the summit? 
e. What covered the parts of the base camp at the mountains during 2015 earthquake? 

2. Write short answers to the following questions. (5×2=10 
a. Why is the speaker saying that 'the children are the most beautiful flowers of all'? 

(The Selfish Giant) 

b. What were the circumstances that led to Aksionov's imprisonment? 

(God Sees the Truth) 

c. What is the speaker's attitude toward war? 

 (The Gift in War Time) 

d. What do you think is the main idea of the essay 'What is Poverty?'? Is the main 
idea of the essay explicit or implicit? 

e. Why are Don Gonzalo and Laura annoyed with each other? 

 (A Sunny Morning) 

3. Write long answers to the following questions. (2×5=10) 
a. Jobs contends that you need to love what you do in order to be great at it. Do you 

agree or disagree? Why? (How to Live Before You Die) 
b. Write the summary of the poem 'All the World's a Stage'. 

4. The following bar graph shows the total cases of COVID-19 infection in Nepal from 
2020-01-01 to 2021-01-20. Write an interpretation of it in about 150 words. 7 
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5. Suppose you are the coordinator of the organizing committee for the 'Sports Week' 

at your school. Write an email inviting the other members of the committee for its 
first meeting. 8 

6. Is the use of smartphones useful for the students of secondary level? Write an essay 
discussing the advantages and disadvantages of smartphones in about 300 words.
 10 

7. Do as indicated in brackets and rewrite the sentences. (10×1=10) 
a. The good boy behaved well. (Underline the adverb in the sentence) 
b. Many of the houses in this neighbourhood (don't/doesn't) have garages. (Choose 

one form from the bracket to complete the sentence) 
c. We insist ............. punctuality in this office. (Put the correct preposition in the 

blank) 
d. It ............. be Anton's car. I saw him driving the car yesterday. (Put the correct 

modal in the blank to complete the sentence) 
e. She ............. (write) three books and she is working on another one. (Put the verb 

from the bracket in correct tense to make a meaningful sentence) 
f. I need to stop (doing/to do) my homework late at night. I keep making terrible 

mistakes. (Choose one form from the bracket to complete the sentence) 
g. The minister stood still ............. the request to take her seat. (Put the correct 

conjunction in the blank to complete the sentence) 
h. Marie Curie is the woman. She discovered radium. (Join the sentences with a 

relative pronoun) 
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i. She said, "Would you like me to help you?" (Use the reporting verb offer to change 
the sentence into indirect speech) 

j. I hate people laughing at me. (Change into passive) 

8. Do as instructed. (5×1=5) 
a. The art of producing beautiful writing with a special pen or brush is called 

calligraphy. What word class does the underlined word in the sentence belong to? 
b. Arrange the following words as per the order in a dictionary: 

 chanting, chopper, chirruping, chivalry, chancellor 

c. What does the sentence 'He burnt his fingers by interfering in his neighbour's 
affair.' mean? 
i. He got himself into trouble. 
ii. He burnt himself? 
iii. He got himself insulted. 
iv. He got rebuked. 

d. What does the prefix 'under-' in the word UNDERESTIMATE mean? 
i. below 
ii. in 
iii. around 
iv. above 

e. Which of the following sentences is correct? 
i. Kelsey said I want to go to Aunt Joy's for Thanksgiving. 
ii. Kelsey said, "i want to go to Aunt Joys for Thanksgiving." 
iii. Kelsey said, "I want to go to Aunt Joy's for Thanksgiving." 
iv. Kelsey said "I want to go to Aunt Joys for Thanksgiving." 

The End! 
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lzIffsf] cjwf/0ff  

$  @   !   ! !    ! $ ! !   $   % * 

@ hLjgf]kof]uL l;ksf] ¿kdf 

l8lh6n l;kx¿ tyf ;fdfGo 

cg';Gwfg  l;k 

( 

# hLjgf]kof]uL l;k !! 

$ dfgj  ;dfhsf] pb\ej / 

ljsf; 

!) ! !   ! ! ! !   !  @ $ !   @  @) * 

% e"uf]n / ;fdflhs HfLjg !@ 

^ ljZjsf] Oltxf; !@ 

& ;fdflhs klxrfg /  ljljwtf  !$ 

* ;+ljwfg  / gfful/s ;r]tgf  !) @ !  ! !  !  ! ! !  % # !   %  !%  * 

( a:tL / hGf;fª\lVosL  !$ 

!) cy{tGq / ljsf;  !@ 

!! :jf:Yo / ;fdflhs ljsf; !@ 

 hDdf !@) % @  @ @ ! # @ ! ! @ ! !! * #  !!  $)  @$ 
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k|Zgsf k|sf/x¿ 

k|Zgsf k|sf/x¿ ;f]lwg] ;ª\Vof ;do ljefhg -ldg]6_ k"0ff{ª\s 

clt 5f]6f] k|Zg !! @) !!  ×  ! = !! 

5f]6f] k|Zg * ($ * × % = $) 

Nffdf] k|Zg # ^^ # × * = @$ 

hDdf @@ # 306f &% 

b|i6Jo M 

 ;a} k|Zg clgjfo{ x'g] 5g\ .  

 clt 5f]6f k|Zg !! cf]6f ;f]lwg] 5 / k|To]s k|Zgsf] c+sef/ ! x'g] 5 .  

 5f]6f k|Zgx¿ * cf]6f x'g] 5g\ / k|To]ssf] cª\sef/ % x'g] 5 . 

 nfdf k|Zgx¿ # cf]6f x'g] 5g\ / k|To]ssf] cª\sef/ * x'g] 5 . 

 k|Zgx¿ plNnlvt 1fg, af]w, k|of]u tyf l;k / pRr bIftfsf] lgwf{l/t k|ltzt ef/ ldNg] u/L 

lgdf{0f ug'{kg]{ 5 . Pp6} PsfO{af6 dfq w]/} k|Zg gkg]{ u/L ;Gt'ng ldnfpg'kg]{ 5 . 

 !@, !( / @! gDj/sf k|Zgx¿df Ps cltl/St k|Zg ;f]lwg] 5 . 

 Pp6f Sn:6/af6 ;f]lwg] k|Zgx¿df 1fg, af]w, k|of]u / pRr bIftfsf k|Zg h'g;'s} PsfOaf6 

klg ;f]Wg ;lsg] 5 . t/ k|Zg ;ª\Vof / k|Zgsf] k|s[lt tf]lsPadf]lhd g} x'g'kg]{ 5 . PsfO 

Psaf6 nfdf] k|Zg ;f]lwg] 5}g  . t];|f] Sni6/df 5f]6f] cltl/St k|Zg ;f]Wbf k|Zg ;f]wLPsf 

PsfO{af6 gbf]xf]l/g] u/L ;f]Wg'kg]{ 5 . 

 pRr bIftfcGtu{t, ljZn]if0f, d"Nofª\sg, l;h{gfTds / d"No;DaGwL k|Zgx¿ ;dfj]z ug'{kg]{ 5 . 
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gd'gf k|Zgkq 

sIff M !! k"0ff{ª\s M &%  

ljifo M ;fdflhs cWoog tyf hLjgf]kof]uL lzIff Sol. 005 ;do M # 3G6f 
;a} k|Zgx¿sf] pQ/ lbg'xf];\ M 

;d"x s 

tnsf k|Zgx¿sf] clt 5f]6f] pQ/ lbg'xf];\ M !!×!Ö!! 

!= hLjgf]kof]uL lzIff eg]sf] s] xf] < 

@= ;fdflhs cWoog / ;fdflhs lj1fglarsf] s'g} Ps leGgtf n]Vg'xf];\ . 

#= tgfjdf k/]sf] glhssf] ;fyLnfO{ tgfa Joj:yfkg ug]{ s'g} Ps ;'emfj lbg'xf];\ . 

$= kl/of]hgf sfo{ ug]{ l;nl;nfdf ;d'bfosf JolStx¿;Fu s;/L s'/fsfgL ;'? ug'{x'G5 < Ps 

jfSodf n]Vg'xf]; .  

%= cfw'lgs dfgjsf] k'vf{ s;nfO{ dflgG5 <  

^= tkfO{F a:g] kof{j/l0fo If]qdf cg's'ng x'g tkfOF{n] ug'{ePsf s'g} b'O{cf]6f sfo{x¿ n]Vg'xf];\ . 

&= g]kfnsf] k|ltlglw ;efsf] lgjf{rgsf] nflu s:tf] lgjf{rg k|0ffnL cjnDag ul/Psf] 5 < 

*= hg;fª\lVos nfef+z eg]sf] s] xf] < Ps jfSodf n]Vg'xf];\ . 

(= ljk|]if0fn] g]kfnsf] cy{tGqdf kf/]sf] s'g} b'O{ k|efj n]Vg'xf];\ . 

!)= ljkb\ hf]lvdsf b[li6sf]0fdf tkfO{F /x]sf] a:tL s:tf] k|sf/sf] a:tL xf] < olb hf]lvdo'St ePdf 

o:tf hf]lvdaf6 ;'/lIft ug]{ s'g} Ps pkfo n]Vg'xf];\ . 

!!= cfxf/ / :j:y hLjglarsf] ;DaGw Ps jfSodf k|:6 kfg'{xf];\ . 

;d"x v 

tnsf k|Zgx¿sf] 5f]6f] pQ/ lbg'xf];\ M *×% Ö $) 

!@= j8{ kmfOn -Word file) df 6fOk ubf{b]lv lk|G6 ubf{;Dd tkfO{F s'g s'g r/0fx¿ k"/f ug'{x'G5 < 

n]Vg'xf];\ . 

cyjf 

 tkfO{Fn] kl/of]hgf sfo{ k"/f ug'{kg]{ cj:yfdf  ;d"x g]tfsf] x}l;otn] ;d"xnfO{ s;/L kl/rfng 

ug'{x'G5 < 

!#= 9'8\u] o'usf] hLjg k4ltnfO{ kfFrcf]6f a'Fbfdf pNn]v ug'{xf];\ .  
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!$= hLjgz}nLsf] cfwf/df dfgj / jftfj/0flarsf] ;DaGw JofVof ug'{xf];\ . 

!%= dWosfnLg Pl;ofdf cfly{s ptf/r9fa lyof] . o; egfOnfO{ k'li6 ug'{xf];\ .  

!^= 5'jf5't lj?4 hgr]tgf hufpg'k5{ eGg] ;Gb]z lbFb} ;DkfbsLosf] gd'gf tof/ kfg'{xf];\ . 

!&= a:tLsf] kl/ro lbFb} u|fdL0f a:tLsf s'g} rf/ k|d'v ljz]iftfx¿ pNn]v ug'{xf];\ 

!*= b]zsf] cfly{s ljsf;df ;/sf/L, lghL / ;xsf/L;DaGwL ltg vDa] cfly{s gLltn] s;/L ;xof]u 

k'¥ofpF5 <  

!(= g]kfnsf] ;+;bLo lgjf{rgdf ;dfg'kflts k|ltlglwTj k|0ffnLsf] Joj:yf ul/Psf] 5 . o;n] 

;+ljwfgdf tf]lsPsf lnª\u, ju{, If]q / ;d'bfosf] cy{k"0f{ ;xeflutf ;'lglZrt ug{ ;s]sf] 5 

5}g < ;dLIff ug'{xf];\ . 

cyjf 

 cfdhgtfdf u'0f:t/Lo :jfYo ;]jfsf] kx'Fr k'¥ofpg /fHon] u/]sf k|of;x¿sf] ;dLIff ug'{xf];\ . 

;d"x u 

tnsf k|Zgx¿sf] nfdf] pQ/ lbg'xf];\ M # × * Ö @$ 

@)= tgfj / åGålarsf] ;DaGw pNn]v u/L åGå ¿kfGt/df tgfj Joj:yfkgn] s;/L e"ldsf v]Ng 

;S5 . pbfx/0f;lxt k'li6 ug'{xf];\ .  

@!= dfgj ;dfh ljsf;sf] j|mddf kz'kfng tyf s[lif o'usf] ;'?cftsf] sf/0f pNn]v ub}{ o; 

o'usf ljz]iftfx¿ rrf{ ug'{xf];\ <   

cyjf 

 g]kfnL ;dfhdf hft k|yfn] pAhfPsf ;d:ofx¿ klxrfg ub}{ o;sf ;dfwfgsf pkfox¿ 

pNn]v ug'{xf];\ .   

@@= ldtJooL hLjg z}nLsf nflu tkfO{Fn] s] s:tf Jofjxfl/s cEof;x¿ ug'{ePsf] 5 < s'g} 

cf7cf]6f Jofjxfl/s cEof;x¿ pNn]v ug'{xf];\ . 
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SN Content Area Wor

king 
hour 
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1 Algebra 44 

2 2 2 10 5 5 1 5 1 8 2 2 4 20 1 8 2 2 1 5 1 8 

20 
MCQ: 2 
SAQ: 2 
LAQ: 1 

2 Trigonometry 12 6 MCQ: 3 
SAQ: 2 
LAQ: 1 3 Analytic Geometry 20 9 

4 Vector 12 6 

5 Statistics & Probability 12 6 MCQ: 1 
SAQ: 1 

6 Calculus 48 
22 MCQ: 4 

SAQ: 2 
LAQ: 1 

7 Computational methods 
or Mechanics 12 

6 MCQ: 1 
SAQ: 1 

Total 160 12 18 30 15 75 
MCQ: 11 
SAQ: 8 
LAQ: 3 



 
 

Question format plan 

S.N. Types of Questions 
Marks per 
question 

Number of questions   

Knowledge Understanding Application Higher Ability Total number of 
questions 

Total 
Marks 

1. Multiple Choice Question 1 2 5 2 2 11 11 

2. Short Answer Question 5 2 1 4 1 8 40 

3. Long Answer Question 8 0 1 1 1 3 24 

Grand Total  4 7 7 4 22 75 

Note:  

§ Appropriate extra time will be provided for the handicapped students and the alternative questions to the figure-based questions should be prepared 
for blind students. 

§ Questions should be prepared by giving the context and one question may have more than one sub-questions. 

§ Application and higher ability questions can be made by relating the other content areas. 

§ Questions should be made by addressing all the sub-areas of content. 

§ At least one multiple choice question should be asked from each area (Trigonometry, Analytic geometry and Vector).  



Secondary Education Examination 

Model question – 2079 

Subject: Mathematics (Mat. 007)     Grade: XI 

Full Marks: 75        Time: 3 Hrs. 

Attempt all the questions. 

Group A: Multiple Choice Questions (1× 11 = 11) 

Rewrite the correct option in your answer sheet. 

1. A conditional statement is symbolized like:      [K] 

  a. 𝑝	 ∨ 	𝑞	    b. 𝑝	 → 	𝑞   

  c. 𝑝	 ∧ 	𝑞    d. 𝑝	 ↔ 𝑞 

2. If the sum of an infinite geometric series is 6 and the first term is 2 then the common ratio 
is:          [U] 

  a. !
"
       b. 

#
"
	   

  c. 
!
$
	     d. 

!
#

  

3. If  𝜃	 = 	 (4𝑛 + 1) !
"
	+ 	!

#
 is the general solution of sin𝜃	 −	√3cos𝜃  = 2 then 𝜃 lies on: [A]                           

  a. first     b.  second 

  c.  third    d. fourth 

4. The equation of the bisectors of the angle between the lines 𝑥 = 2 and 𝑦 = 2	are:       [HA] 

  a. 𝑥 = 0, 𝑦 = 0	    b. 𝑥 = 1, 𝑦 = 1	   

  c. 𝑥 = 𝑦, 𝑥 + 𝑦 = 4    d. 𝑥 = 𝑦, 𝑥 − 𝑦 = 4 

5. Let  𝑎⃗, 𝑏;⃗ , 𝑐  be non-coplanar three vectors such that  𝑥𝑎⃗ + 𝑦𝑏;⃗ + 𝑧𝑐 = 𝑜⃗. The vectors are 
linearly independent if                                                                                       [U] 

 a. x ≠ 0, y ≠ 0, z ≠ 0                                 b.  x = 0, y = 0, z = 0 

  c. x = 0, y ≠ 0, z ≠ 0                                 d. x ≠ 0, y ≠ 0, z = 0 



6. A mathematical problem is given to three students Sumit, Sujan and Rakesh whose chance 

of solving it are 
!
"
,  !
#
 and (1 − !

$
) respectively. The probability of solving the problem is 

#
%

? The possible values of a are                                                                                         [HA] 

  a. 
!
%
                                                         b.  

!
#
 

  c.  
#
%
                                                        d. 	%

#
 

7. lim
$→&

'()$
$

 is equal to                                                                       [K] 

 a. 0                        b. ∞                      

  c. 1                                d. &
&
 

8. The derivative of 𝑔(𝑥) = 	 𝑒√+ is …     [U] 

 a. √𝑥		𝑒√+,-   b. 2	𝑒√+	𝑥,
!
"   

 c. -
"
	𝑒√+	𝑥,

!
"   d.	𝑒√+ 

9. The area bounded by the x-axis and the curve y = 4x3 and the ordinates at x = 2 and x = 4    
            [A] 

  a. 48 sq units 
 
                         b.  240 sq units

        c. 256 sq units
                         

d. 272 sq units
 
 

10. A function 𝑓(𝑥) = 	 )sin	
!
&

0
		, 𝑥 ≠ 0
, 𝑥 = 0 . What is the type of discontinuity in 𝑓(𝑥)?   [U]             

  a. Removable 
 
                         b.  Jump

        c. Ordinary
                         

d. Infinite
 
 

11. The resultant of two force 8N and 6N acting at an angle 90° to each other. What is the 
resultant?                                                                                    [U] 

  a. 2N      b. 7N         

  c. 10N       d.  14N 

OR 

The first iteration root of the equation 𝑓(𝑥) = 𝑥" − 5 = 0	by using newton Raphson’s method 
with initial guess 2 will be:        [U] 

   a.  2.25     b. 2.20        

  c. 2.10       d.  2.32 



Group B: Subjective Questions (5 × 8 = 40) 

12. A function f (x) = x2 is given. Answer the following question for the function f(x). 

a. What is the algebraic nature of the function?     [1K] 

b. Write the name of the locus of the curve.      [1K] 

c. Write the vertex of the function.       [1K] 

d. Write any one property for sketching the curve.     [1K] 

e. Write the domain of the function.       [1K] 

13. a. If  𝑥 + 𝑖𝑦 = #,"(
#."(

	, Prove that:	𝑥" + 𝑦" = 1.      [2U] 

b. 𝑎𝑥" + 𝑏𝑥 + 𝑐 = 0	 and 𝑝𝑥" + 𝑞𝑥 + 𝑟 = 0	are any two quadratic equations. Find the 

condition that the roots of  𝑎𝑥" + 𝑏𝑥 + 𝑐 = 0		is reciprocal to the roots of  

 𝑝𝑥" + 𝑞𝑥 + 𝑟 = 0.         [3U] 

14. a. Write the domain and range of the function 𝑦 = sin,- 𝑥.   [2K] 

b. Write the general solution for sinx = 1, cosx = 0 and tanx = 0   [3K] 

15. Given that  𝑢;⃗ = (1 + a)𝚤 + b𝚥 + c𝑘;⃗ 	,			𝑣 = 𝑎𝚤 + (1 + 𝑏)𝚥 + 𝑐𝑘;⃗ 	 and 𝑤;;⃗ = a𝚤 + b𝚥 +

(1 + 𝑐)𝑘;⃗   are any three	vectors, where 𝒂, 𝒃, and 𝒄 are scalars.  

a. Explain the condition that 𝑢;⃗ , 𝑣	and 𝑤;;⃗  are linearly dependent.   [2HA] 

b. Show that, a + b + c + 1 = 0 is only one condition for the vectors to be linearly dependent.

           [3HA] 

16. The wages of the workers of a company are given below:  

a. Calculate Karl Pearson’s coefficient of skewness of wage distribution among the 

workers.          [3A] 

b. What is the probability that the leap year selected at random contains 53 Sundays? 

          [2A] 

Wages (in Rs. ‘000’)  10-20 10-30 10-40 10-50 10-60 10-70 

No of workers 10 12 25 35 40 50 



17. The diagram alongside shows the curve with equation 𝑥 = 2 − 𝑐𝑜𝑠2𝑡	 

and 𝑦 = 2 sin# 𝑡	 + 3 cos# 𝑡 + 1 for 0 ≤ 𝑡 ≤ -
"
𝜋.   

a. Prove that:  /0
/+
= #

"
sin 𝑡 − 1

2
cos 𝑡.           [2A]  

b. Find the coordinates of a point on the curve, where the tangent is 

parallel to x axis.       [2A] 

c. State the type of concavity of the curve.    [1A] 

18. A function 𝑓(𝑥)is defined as	𝑓	(𝑥) = 	 d4𝑥 − 35 		𝑓𝑜𝑟	 − 5 ≤ 𝑥 ≤ 2
𝑓𝑜𝑟	𝑥 > 2   

 a. Find the limit of the function 𝒇(𝒙) when 𝑥 approaches 2 whenever it exists.  [2A] 

 b. Is the function 𝒇(𝒙)	 continuous at 𝒙 = 𝟐? Give the reason.    [1A] 

 c. Evaluate ∫ 𝑥"𝑑𝑥2
"         [2A] 

19. a. For the polynomial equation 𝑥# + 𝑥 − 4,	determine the minimum number of iterations 

required for bisection method to have a solution in the interval [1,4] with error less than 

0.01.            [2A]  

      b. Use Trapezoidal rule to evaluate the integral  with n = 4.                       [3A] 

19 OR 

a. R is the resultant of two forces P and Q. If Q is doubled the new resultant is perpendicular 

to P then prove that 𝑄 = 𝑅       [2A] 

b. A point is moving with uniform acceleration, describes 25 m. in the half second which 

elapses after the first second of its motion and 198 m in the eleventh second of its motion. 

Find the acceleration of the point and its initial velocity.    [3A] 

 

  

ò +

1

0 1 x
dx



Group –C (8×3 =24 ) 

20. a. Verify |x + y| £ |x| + |y| with suitable example, where x and y are real numbers. [2U] 

 b. Prove that |xy| £ |x| |y| where x and y are real numbers.        [2U] 

 c. If A = m 1 −2 3
−1 2 1n, B = o

2 3
3 1
1 2

p and I is the identity matrix of order 2. find the 

determinant of AB - 3I               [4U] 

21. a. If the direction cosines of a line are proportional to 1, −3, 2, then find the direction cosines 

of the line.                      [3A] 

 b. The equations of two straight lines are: 3x − 2y = 5 and 6x + 2y +15 = 0  

 i. Find the homogeneous equation of second degree in x and y to represent given pair of 

straight lines.                 [2A]  

ii. Determine the equation of bisector of the angle that contains origin.  [3A] 

22. The figure alongside shows part of the curve 

 𝑦	 = 	 𝑥" − 	1 and the line 𝑦	 = 	3.  

a. Find the area of the shaded region showing all necessary working.

       [5HA] 

b. Determine the coordinates of a point where the tangent to the curve 

is parallel to x-axis.     [3 HA] 

 

-The end- 
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